91 IGeV ee

vy*/Z (Hadronic)
T | T T T —]

>\ I T I T I T I
£9.055 [— o —]
= - = multiplicity (%) .
g 0.05— w DELPHI —
— --O-- Herwig++ 2.7.1 default ]
0.045 — Herwig++ 2.7.1 UE-EE-5 —
E --3-- Herwig 7.0.4 default E
0.04 | —
0.035 — —
0.03 | —
I e LF----------mmmm - |
K @ "]
0.025 — ]
- u 7
0.02 —
0.015 — —
0.01 :_| | | | | \ | | | | |_:
— | ' | ]
2 F =
A B
o — _|
0 [ &5 u
o 1
0 B |
3
x | _
05 _
| : |

Rivet 3.1.10, = 500k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


